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3 3 Round 4.769 to the
T - 25 = nearest hundredth.
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Whoi kinds of lines
are shown?

Write an ekpreésion !
for the calculation [
double the number |

6 and then subtract |

A 36 divided by 12. |
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_ Write <,>, or =fo | Write 54.039in
| make the statement | word form.
frue.

16780 %10 = '3 hundreds =

ones
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| b.789©67.8q
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: Wri'ré < > or =to
make the statement
true.

!

|
i
|
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84O 10°=

~angle.

]
4

o mea

Ava and Becca
are collecting
canned goods.

Ava collected % of

a box of canned
goods. If Becca _
collected 5 times as
much as Ava, how
many boxes did
Becca collect?
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Draw a

(3xU+6)]-8)}+ |

!
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[4 x (24 - 17)] = E
i

!
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——— . e —

quadrilateral with
exactly one right

11390 +4.23 =

23
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Name

| ‘1.' Wri’re-<, >, o; = 1o rr;alie":fhé ;’rc-terhe'hfm : l2h Round 27977 'ro TH.é-r{éére_st'hur;c‘ire-d’rh.. 3

true. |
0.600 O 0.6 ;

'3 YO x 67 = 4. 9,045 + 15 =

s 2ot vopew——

s, .. - 6 {[(A+3)+2 -2 x[3x (14 -5)] =

w
No|
I
W
w]—
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:i 7. 643 + 4.38 = . 8. Write an expression for ’rEe colcu]oﬁon N
i double the number 18 and then add 14
divided in half.

q. 910 = 102 = -10. Write 187.023 in word form.
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_ ‘:frh-ous'andé | er'fe <, > or= fo Round 33 Olto fhe 638 O7L
= 5,000 ones | make the statement ! | nearest tenth.
' [ true. ' |

E o.on.zq ; |
|
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| | |

|
' S | A  »  Sul S
35x10" = 42612 = Write an expression

—— e —

| for the calculation
i subtract 9 from
I double 14. |
| How many of each
’ angle are in this ;
| shape?
acute
obtuse
right
S RO — qt‘.‘;_“'_"‘_m_f‘;:?
' Write 456.678 in ‘ 1 Complete the table. -
expanded form. - | The boys picked 351 :
' baskets of apples. Add 2| Add 4
; . 1 21| 23 25
- The girls picked 57 L f >
_fbcskefs. How many ' |
: 23 g
baskets of apples u |
._ ' did the boys and | | fr
| ' girls pick in all? ] 25 *
9 o 26 |
i |
-‘- 5 2 1636 x73 = , Complefe the groph based on the fcble J
:L;_(—15+§-)= 1lcbove g o
| t ‘ 39A I
2 i
| ¢ 28
! . ! z
26
t 5
' »
b 23 +
i 2
21
20‘ i
[ 0202122232'4252627282“130
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"1 Complete the table.

R 8 e VA S, YT

Add 1

Add 3 |

51

52

54

52

53

54

55

L2 Compleie the A
graph based on [T
the table in the '
previous question.
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56

51'1‘03 _?lc.{.ﬂﬁb ‘ 750615253 51555657 585960

'3, 27x10° =

true.

2,929.87 O 2,929.087

‘7. bl x 83 =

5. Write <, >, or = to make the statement

4. Write 65812q in expcnded form.

ﬂ 6_ Ranc] 8.61 to the nearest tenth.
|

}

9. Write an expreséion for the calculation
5 times the number 25 and then subtract
the quotient of 14 and 7.

8. 1160 £ 10 =

10. 521.09 - 148.75 =




5.6).
!

Poge 23 |

Day 1: '4%: 4.77; perpendicular:

(6x2)-(36+ 12); Day 2: 57°; 67,071; <: 50;
Day 3: >; fifty-four and thirty-nine thousandths;
678; 300; Day U: 18—% or 0.84; Check students’

drawings; 3%; 18.13

Page 24

=12, 27.98: 3. 27470; 4. 603; 5. 2.1 6. 108,
7. 101 8. (18 x 2) + (14 + 2); 9. 95 or g1

10. one hundred eighty-seven and twenty-
three thousandths

Page 25

Day 1: 5: >; 35.000; 357 or 35.5; Day 2: 33.0.
618.73: 2,2, 0; (4 x 2) -9

Day 3: 40+ 5 + 0.6 + 0.07 + 0.008; 9 baskets:
31‘(13: H61428; Day U: (24,26), (25,27). (26,28),
(27,29), (28.30); Check students’ graphs.
Page 26’

1. (53,55), (54.56), (55,57), (56.58), (67.59);

2. Check students’ graphs; 3. 270,000: 4. 600
+50 +8+01+0.02+0.009: 5. > 6, 8.6;

7. 80,012; 8.116; 9. (25 x S5) - (4 = 7):10. 372.34

90

00;

8+2)

13;
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